
BEH850K    HAMMER DRILL 1



Parts�List BEH850K HAMMER�DRILL 1

Item Part�Number Qty Part�Description General�Description Other�Info Repair�Inst Markets

1 N506832 1 HOUSING �� No

2 N664467 1 GEARCASE�SA �� No

3 N664466 1 SPINDLE �� No

4 478753-00 1 WASHER �� No

5 90564351 1 CARRIER �� No

6 90571958 3 PIN �� No

7 90567546 1 GEAR �� No

8 90571237 1 SPRING �� No

9 90564356 1 BEARING�HOUSING �� No

10 90641385 1 PIN�SA �� No

11 N570029 1 SELECTOR �� No

12 N664468 1 MOTOR�SA �� No

13 N508445 1 BRUSH�SA �� No

14 330019-63 1 SCREW M3-12X42�T10 �� No

15 90639829 1 BAR �� No

16 90560638 1 SPRING �� No

17 90581326 1 SWITCH�SA �� No

18 90574765 1 CAPACITOR �� No

19 329301-00 1 CORD�CLAMP �� No

20 330019-01 1 SCREW.TEMP M3�-�Torx �� No

21 770235 1 PROTECTOR �� No

22 90570474 1 CORDSET�(EURO) �� No QS

23 629530-01L 1 CHUCK�KEYLESS �� No

24 N523618 1 SCREW �� No

25 330019-32 1 SCREW M4.55X22�T20 �� No

26 330019-03 1 SCREW M3.5�x�16 �� No

37 N574861 1 RATING�LABEL �� No QS

Page�1


